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Q1}...[25 points] Consider the following ODE.

(D* — 4D + 5)(D* 4+ 4)*(D — 33Dy = 0
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How many independent solutions should it have?
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Find the general solution to the ODE above.
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Q2]...[25 points] Show that the following four functions are linearly independent on (—o0, c0).
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Q3]...[25 points] Find a constant coefficient linear differential operator A such that Af(z) = 0 where
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Find the general solution to the following ODE.
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Q4]. .. [25 points] Find a constant coefficient linear differential operator A such that Af(z) = 0 where

f(z) = sin(2z).
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Find the general solution to the following ODE.

¥y + 4y = sin(2z).
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